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Module-5
A 75 mm long full journal bearing of diameter 75Smm fwuoam aload of 10 kN. The speed of

the journal is 1200 rpm. The absolute viscosity of th u,om,_ is 10x10™ Pas and the diametral
clearance ratio is 0.001. Determine the coefficient, iction by using

(i) Petroff’s equation  (ii) McKee’s equatio: mw Raimondi and Boyd curve. (08 Marks)
A full journal bearing of 50mm diameter, 75,mnv Tong supports a radial load of 1000 N. The
speed of the shaft is 600 rpm. The surfacé:| eniperature of bearing is 1 ited to 60°C and the
room temperature is 30°C. Determine the Viscosity of the oil, if the! i»:bm is well ventilated
and no artificial cooling is to be used, The ratio of journal diameter to diametral clearance

is 1000. (08 Marks)
it OR
A ball bearing operates in the w@:oeizm work cycle.
Elemént,| Radial load N Pim, | Element time %
e 3000 30
. 7000 40
5000 .. 900 30
The dynamic i6ad gapacity of bearing is 16500'N. Calculate
() Averagé.speed of rotation b

(ii) Equivdlept radial load :
(iif) Befiring life. B (08 Marks)
A wimm row deep groove ball Beatmg is subjected tg°a, fadial force of 8 KN and a thrust
force of 3 kN. The values of Xoahd Y are 0.56 and respectively. The shaft rotates at
1200 rpm. The diameter of thé shaft is 7Smm and:beliring number 6315.is selected for this
application. £ £
(i) Estimate the life om@?mm ‘bearing with 90% relidbility.

(ii) Estimate the reliability for 20,000 hours fife. <

(08 Marks)




